


a=25" 4 W), 625" & a o B A2

1

2 Lrehe?

D a D a2 ® & ® o



3. 3x(x=5)+4x(1-3x) =ax® + bx+ ¢ 4 ), abc °] 27

@ o @ -11 ® -20 @ 99 ® -99



14 1ol veriE?

-10




%:]7}9] 2 QQJ o]o_]_‘% %O:] ;8]@'
o

A7t A 1000 9L SQlate] Tor
. o]olo] Y7}kl 10% o]Ato] AT A7t An} o
shofet.

B .
:

rr e

A

Aol g =X

i3



Ho



A (3x% + x = 2) + (=5x% = Tx + 1) = 3] 5pd?

O -2x2-6x-1 @ -2x2+6x+1 @ -2x2-5x-1

@ 8x? —4x-1 ® 8x% +4x+1



8 2<x<1391,a<-2x+7<b¥q W, a+7b 2 FL?

@ o @ 2 ® 4 @ 6 ® 8






o

k13
=

= 5lo)
= -
1 uf 40 59

15%
[e]
=

10%, 40 g o)A
= o]

[e]
g2
u

03 °
0

B



11.

g 9dal, o2k 170l 10 Wl &
dS HY 8ol shFof B & o, A=

29 ol glojot
sF=] Fatofet,

5 L
=%

—

Izt 19go] 6 Thoj

oR,



12.

%x+y:1&xﬁfﬂﬁ¢ﬁ£X>w
otolg,

D L
=%

Qo]
=

o,

T

3

O

o

>

]

d

o] 52 7

N



2 ra

v

Her 4 1x+2y:2()6%—1)+5y:x+4y94 SNE (p, q) 2
3
, pq & #&& oot

Hipg=

5}
=



14. ol Fapgol| @ Eutolel A5 a7t mE 12 g7} ook, vHF] 2
Aol RGEE Y BT 3270t} AEahs 2 Bl A Fotofet.

B of



15.

o
| A9 5 Apgro] ut
e Hrgro 2 A1 50 B Ho S:¢o] 7} 298 naps)

L 2o e
X g
L

22 md o

@O A% 2.1km @ A% 2.7km ® A% 3km

@ A% 3.3km ® A4 3.9km



16.

4 .
ﬂ :O_abcd Oﬂ/\:' a, b, C,d}i'oa 1’...

9990
oltf, a+b+c+d 2 Fke?

@ 21 @ 22 ® 23



17.

27

AT A 2a% - 2a(x +4) +2x -4y = 0 2 F A

® 10



3x+2ay+2=0
2x+3(a-1)y-b=0

o 7t

5| W2 o], 5a+3b



19. A= o= ot 2] A4 S A=k =
] YA a,b,c,d o tiste] 7]eFES 4 0.cd od
o, a,b,c,d & ZF< shod gt (T = . )
c,d 9 F+& 747} Fstoit (B g—, Gota
b 447} ofth)

B c=

SR



7t x =a, y=b, z=c ¥ H,

S

94

MDA N | R

+ + 4+
MR >N N

a+b+c o e

I
%o
o
T
B
=
[a\]

@ 9 ® 5 @ 3 ®1

D 11



